

TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 24-C1781

 Bid Number:
 B-24-0318

 Date:
 11/18/2024

 Page:
 1 of 6

ІТЕМ	QTY.	UNIT OF	DESCRIPTION	APPROVE	ED BUDGET	BID F	RICES
NO.	ידיע. 	ISSUE		Unit Price	Total Amount	Unit Price	Total Amount
1	86.0	cont.	Activated glutaraldehyde solution 5L/container - with CPR	2,585.00	222,310.00		
2	74.0	pc/s	Arm Sling, Large with CPR	165.00	12,210.00		
3	101.0	pc/s.	Asepto Irrigation Syringe Plastic 60ml - with CPR	40.00	4,040.00		
4	68.0	box/s	Auto Lancet tribevel tip Gauge 21/200's - with CPR	650.00	44,200.00		
5	150.0	roll/s	Bandage Elastic 10cm x 1.6m-with CPR	49.00	7,350.00		
6	47.0	pc/s	Bandage Elastic 15cm x 1.6m - with CPR	61.00	2,867.00		
7	224.0	roll/s	Bandage,Gauze 36 inches x 100 yards,2 ply fine course mesh - with CPR	1,782.00	399,168.00		
8	85.0	box/s	Blood Collecting tube, plastic with gel separator 4ml 100's - with CPR	1,344.00	114,240.00		
9	134.0	box/s	Blood Collecting tube,lavander top EDTA K3 100's 2ml - with CPR	1,320.00	176,880.00		
10	349.0	pc/s.	Blood Transfusion Set - with CPR	48.00	16,752.00		
11	24.0	pck/s	Blue Sensor ECG Electrodes PVG Backing banan plug 3mm 25's	506.00	12,144.00		
12	1.0	pack/s	Braided Silk Black non-abosorbable suture 1 Metric Gauge: 4.0 metric, Suture Length: 75cm, Needle Thicknes: 40mm, Needle Curvature: 1/2 Round Bodied 12's - with CPR	4,200.00	4,200.00		
13	3.0	bx/s	Braided Silk Black non-abosorbable suture 2-0 Metric Gauge: 3.5 metric, Suture Length: 75cm, Needle Thicknes: 40mm, Needle Curvature: 1/2 Round Bodied 12's - with CPR	4,200.00	12,600.00		
14	35.0	pack/s	Cap Boufant 100's-NO CPR	446.67	15,633.45		
15	26.0	pad/s	Cautery Pad - NO CPR	750.00	19,500.00		
16	3.0	box/s	Chromic absorbable surgical sutures 1 Metric Gauge: 3.5 metric, Suture Length: 75 cm, Needle Thickness: 40 mm, Needle Curvature: 1/2 circle heavy round bodied 12's - with CPR	450.00	1,350.00		
17	7.0	box/s	Chromic Absorbable Surgical Sutures 3-0 Metric Gauge, 3.0 metric, Suture Length:	450.00	3,150.00		
			OPH-MONTEVISTA (VARIOUS MDLS) 4TH QUARTE	SUB-TOTAL	1,068,594.45		



PROVINCIAL GOVERNMENT OF DAVAO DE ORO

Cabidianan, Nabunturan, Davao de Oro

TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 24-C1781

 Bid Number:
 B-24-0318

 Date:
 11/18/2024

 Page:
 2 of 6

TEM	QTY.	UNIT OF		APPROVED BUDGET		BID PRICES	
NO.	911.	ISSUE		Unit Price	Total Amount	Unit Price	Total Amoun
			75cm, needle thickness: 26mm, Needle Curvature: 1/2 Reverse Cutting 12's - with CPR				
18	25.0	pc/s	Colostomy bag - with CPR	30.00	750.00		
19	595.0	pc/s	Cord Clamp plastic - with CPR	6.00	3,570.00		
20	58.0	case/s	Cotton Absorbent 400g 20's roll - with CPR	4,510.00	261,580.00		
21	17.0	РАСК	Cotton balls, sterile 300s	134.00	2,278.00		
22	200.0	set/s	CT Contrast Injector Syringe & Quick fill Tube with Medrad coiled low pressure connector tube M/F Luer Lock 152.4cm (Tri-pack)	1,800.00	360,000.00		
23	2.0	box/es	Dental Needle (long) gauge 27 - 100's - with CPR	0.00	0.00		
24	5.0	box/es	Dental Needle (short) gauge 27 - 100's - with CPR	0.00	0.00	 	
25	212.0	pc/s	Diaper,adult (L) no CPR	55.00	11,660.00		
26	24.0	bx/s	Disposable Syringe Insulin G29 x 1/2 100's - with CPR	715.00	17,160.00	 	
27	294.0	bx/s	Disposable Syringe w/ needle G-23, 10ml 100's - with CPR	660.00	194,040.00		
28	3865.0	bx/s	Disposable Syringe w/ needle G-23, 3ml 100's - with CPR	385.00	1,488,025.00		
29	90.0	bx/s	Disposable Syringe w/ needle G-23, 5ml 100's - with CPR	418.00	37,620.00		
30	116.0	gal/s	Distilled water 6 L/gal NO CPR	148.50	17,226.00		
31	2.0	roll/s	ELASTIC BANDAGE 3X5	35.00	70.00		
32	18.0	pc/s	Electrosurgical Pencil Valleylab compatible	780.00	14,040.00		
33	20.0	pc/s.	Endotracheal Tube -Fr 28 ID 7.0 with cuff - with CPR	100.00	2,000.00		
34	56.0	pc/s.	Endotracheal Tube -Fr 30 ID 7.5 with cuff - with CPR	100.00	5,600.00		
35	8.0	pc/s.	Endotracheal Tube, Fr14 ID 3.5 -with CPR	70.00	560.00		
				SUB-TOTAL	3,484,773.45		



TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 24-C1781

 Bid Number:
 B-24-0318

 Date:
 11/18/2024

 Page:
 3 of 6

ITEM	QTY.	UNIT OF ISSUE		APPROVED BUDGET		BID PRICES		
NO.	QTT.			Unit Price	Total Amount	Unit Price	Total Amount	
36	17.0	pc/s.	Endotracheal Tube- Fr 12 ID 3.0 with CPR	70.00	1,190.00			
37	15.0	pc/s.	Endotracheal Tube- Fr10 ID 2.5 -with CPR	70.00	1,050.00			
38	2.0	pc/s	Epidural set G-18 - with CPR	1,716.60	3,433.20			
39	855.0	pc/s	Foley catheter Fr-16 ,2 way - with CPR	48.00	41,040.00			
40	112.0	box/s	Gloves, surgical sterile size 7 50's-with CPR	1,015.00	113,680.00			
41	95.0	box/s	Gloves, surgical sterile size 7.5 50's-with CPR	1,015.00	96,425.00			
42	23.0	box/s	Gloves,surgical sterile,s 6 50's - with CPR	1,641.00	37,743.00			
43	8.0	bx/s	Glucometer Strips 50's x 10 boxes with free code less glucometer - with ISO	25,000.00	200,000.00			
44	27.0	bx/s	IV Cannula G-18 100's - with CPR	3,730.00	100,710.00			
45	13.0	bx/s	IV Cannula G-20 100's - with CPR	3,730.00	48,490.00			
46	32.0	bx/s	IV Cannula G-22 100's - with CPR	3,759.00	120,288.00			
47	22.0	bx/s	IV Cannula G-24 100's - with CPR	3,897.00	85,734.00			
48	19.0	bx/s	IV Cannula G-26 100's - with CPR	3,730.00	70,870.00			
49	515.0	pc/s.	IV Stopper - with CPR	30.00	15,450.00			
50	471.0	pc/s	Laparotomy Sponges Mesh, Sterile 12" x 18", X-ray Detectable 5's - with CPR	150.00	70,650.00			
51	23.0	pc/s	LCD Digital Non-Contact Infrared Thermometer	2,500.00	57,500.00			
52	9480.0	sachet/s	Lubricating jelly, 3 grams sachet -with CPR	12.60	119,448.00			
53	75.0	pck/s	Macro / Infusion set (adult)50's - with CPR	3,500.00	262,500.00			
54	15.0	pck/s	Micro / Infusion set (pedia)50's - with CPR	3,500.00	52,500.00			
55	18.0	piece/s	Mouth guard - Adult airway 110mm light blue- with CPR	54.00	972.00			
				SUB-TOTAL	4,984,446.65			
Delivery:	: FOR THE U : PGSO f Delivery: 1		OPH-MONTEVISTA (VARIOUS MDLS) 4TH QUARTI	ER				



TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 24-C1781

 Bid Number:
 B-24-0318

 Date:
 11/18/2024

 Page:
 4 of 6

ITEM	QTY.	UNIT OF		APPROVE	ED BUDGET	BID PRICES	
NO.	QTT.	ISSUE		Unit Price	Total Amount	Unit Price	Total Amount
56	85.0	piece/s	Mouth guard - Adult airway 120mm orange- with CPR	54.00	4,590.00		
57	10.0	piece/s	Mouth guard - Pedia airway 40mm pink- with CPR	54.00	540.00		
58	15.0	pc/s	Mouth Guard -Adult airway 70mm	77.00	1,155.00		
59	8.0	pc/s	Mouth Guard -Adult airway 80mm	77.00	616.00		
60	2.0	pc/s	Mouth Guard -Adult airway 90mm- with CPR	112.50	225.00		
61	10.0	boxe/s	Name Bond, Blue -100's NO CPR	561.00	5,610.00		
62	9.0	boxe/s	Name Bond, Pink -100's NO CPR	561.00	5,049.00		
63	9.0	boxe/s	Name Bond, White -100's NO CPR	561.00	5,049.00		
64	10.0	pc/s	Nasogastric Tube Fr 5, Silicone - with CPR	500.00	5,000.00		
65	8.0	pc/s	Nasogastric Tube Fr 8 - with CPR	48.00	384.00		
66	10.0	pc/s.	Nasogastric Tube Fr-12 - with CPR	48.00	480.00		
67	288.0	set/s	Nebulizing Kit with Mask (Pedia) - with CPR	85.00	24,480.00		
68	486.0	set/s	Nebulizing Kit with Mask - Adult - with CPR	85.00	41,310.00		
69	24.0	pc/s	Needle point cautery tip - with CPR	660.00	15,840.00		
70	581.0	pc/s.	Needle Spinal G-25 - with CPR	108.00	62,748.00		
71	295.0	pc/s	Oxygen mask (adult) - with CPR	72.00	21,240.00		
72	95.0	pc/s	Oxygen mask (pedia) - with CPR	72.00	6,840.00		
73	813.0	pc/s	Oxygen Nasal Cannula (adult)-with CPR	60.50	49,186.50		
74	26.0	pad/s	Paper for Electronic Fetal monitor NO CPR	715.00	18,590.00		
75	6.0	box/s	Pediatric Urine Collector 100's - with CPR	1,900.00	11,400.00		
				SUB-TOTAL	5,264,779.15		
Delivery	: FOR THE U : PGSO f Delivery: 1		OPH-MONTEVISTA (VARIOUS MDLS) 4TH QUARTI	ER			



TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 24-C1781

Bid Number:	B-24-0318
Date:	11/18/2024
Page:	5 of 6

NO. 76 77 78 79	8.0	ISSUE pc/s. pc/s	DESCRIPTION Penrose drain 1/2 inch - with CPR	Unit Price 50.00	Total Amount	Unit Price	Total Amoun
77 78 79	8.0		Penrose drain 1/2 inch - with CPR	50.00	450.00		
78 79		nc/s		20.00	150.00		
79	40.0	P0,0	Penrose drain 1/4 inch - with CPR	45.00	360.00		
		roll/s	Plaster of Paris 4 x 5" - with CPR	182.00	7,280.00		
	23.0	roll/s	Plaster of Paris 6 x 5" - with CPR	312.50	7,187.50		
80	1.0	bx/s	Poliglecaprone 25 undyed monofilament suture 4-0 Metric Gauge: 1.5 metric, Suture Length: 70 cm, Needle Thickness: 19mm, Needle Curvature: 3/8 taper round, 12's - with CPR	4,200.00	4,200.00		
81	26.0	bx/s	Polyglactin 910 violet braided suture 3-0 Metric Gauge: 2.0 metric, Suture Length: 70 cm, Needle Thickness: 17mm, Needle Curvature: 1/2 Reverse Cutting 12's - with CPR	5,500.00	143,000.00		
82	3.0	bx/s	Polyglactin 910 violet braided suture 4-0 Metric Gauge: 1.5 metric, Suture Length: 45 cm, Needle Thickness: 19mm, Needle Curvature: 3/8 Reverse Cutting 12's - with CPR	5,500.00	16,500.00		
83	1.0	bx/s	Polyglactin 910 violet braided suture 5-0 Metric Gauge: 1.5 metric, Suture Length: 70 cm, Needle Thickness: 16mm, Needle Curvature: 3/8 Reverse Cutting 12's - with CPR	7,200.00	7,200.00		
84	1.0	bx/s	Polyglactin 910 violet braided suture 5-0 Metric Gauge: 1.5 metric, Suture Length: 70 cm, Needle Thickness: 16mm, Needle Curvature: 3/8Round Bodied 12's - with CPR	7,200.00	7,200.00		
85	1.0	pc/s	Polypropylene Non-absorbable synthetic surgical mesh 2.3"x4.3" (4.6cmx10.2cm)	2,800.00	2,800.00		
86	1.0	bx/s	Polypropylene blue monofilament suture 1, Metric Gauge: 3 metric, Suture Length: 75cm, Needle Thickness: 26mm, Needle Curvature: 1/2 Round Bodied 12's - with CPR	1,800.00	1,800.00		
87	1.0	bx/s	Polypropylene blue monofilament suture 4-0, Metric Gauge: 1.5 metric, Suture Length: 45cm, Needle Thickness: 13mm, Needle Curvature: 3/8 Round Bodied 12's - with CPR	2,770.00	2,770.00		
-+				SUB-TOTAL	5,465,226.65		<u> </u>



TECHNICAL SPECIFICATIONS FORM

Purchase Request Number: 24-C1781

 Bid Number:
 B-24-0318

 Date:
 11/18/2024

 Page:
 6 of 6

ITEM	QTY.	UNIT OF	DESCRIPTION	APPROVE	ED BUDGET	BID F	PRICES
NO.	QTT.	ISSUE		Unit Price	Total Amount	Unit Price	Total Amount
88	5.0	gal/s	Povidone lodine 7.5% (Cleanser) - with CPR	1,500.00	7,500.00		
89	17.0	gal/s	Povidone, lodine 10% (antiseptic) - with CPR	1,210.00	20,570.00		
90	718.0	pc/s	Screw cap urine container	15.00	10,770.00		
91	43.0	pc/s	Straight Catheter Fr. 16 - with CPR	61.00	2,623.00		
92	36.0	pc/s	Suction Catheter Fr-12 - with CPR	15.00	540.00		
93	250.0	pc/s.	Suction Catheter Fr-16 - with CPR	15.00	3,750.00		
94	553.0	pc/s.	Suction Catheter Fr.8 - with CPR	41.00	22,673.00		
95	21.0	pc/s	Suction connecting Tube with tip, curve- with CPR	300.00	6,300.00		
96	19.0	pc/s	Suction set pole abdominal drain with universal connection tube FR-24 - with CPR	380.00	7,220.00		
97	1.0	bx/s	Surgical Blade #11 100's - with CPR	1,018.00	1,018.00		
98	2.0	bx/s	Surgical Blade Number 10 100's - with CPR	400.00	800.00		
99	1.0	bx/s	Surgical Blade Number 15 100's - with CPR	400.00	400.00		
100	100.0	pc/s	Surgical Mediscrub - with CPR	100.00	10,000.00		
101	25.0	box/s	Surgical Skin Stapler -with CPR	1,687.60	42,190.00		
102	13.0	btl/s	Thoracostomy chest tube drainage bottle,1 liter calibrated - with CPR	1,045.00	13,585.00		
103	3.0	pc/s	Thoracostomy chest tube Fr 28 - with CPR	720.00	2,160.00		
104	30.0	roll/s	Wadding Sheet 4x5 with CPR	77.50	2,325.00		
105	16.0	pc/s	Wadding Sheet 6x5 - with CPR	80.00	1,280.00		
106	9.0	pc/s	Wound Drainage - with CPR	1,400.00	12,600.00		
				TOTAL/LOT	5,633,530.65		
Delivery	: FOR THE U : PGSO f Delivery: 1		OPH-MONTEVISTA (VARIOUS MDLS) 4TH QUARTE	ΞK			